3257

3228

3530

3588

3 869

3907

3099

3258 ——»
3uk+2h+5da+8u
3000+200+50+8
3229 — »
3uk+2h+2da+9u
3000+200+20+9
3531 —
3uk+5h+3da+1u
3000+500+30+1
3589 —»
3uk+5h+8da+9u
3000+500+80+9
3870 ——»
3uk+8h+7da+0u

3000+800+70+0

3258

3229

3531

3 589

3870

3908

3100

tremilzduecentocinquantotto

tremiladuecentoventinove

tremilacinquecentotrentuno

tremilzcinquecentoottantanove

tremicottocentosettanta

3259

3230

3532

3590

3871

3909

3101




3908 —» tre novecentootto
3uk+9h+0da+8u

3000+900+0+8

3100 ——» tre cento
3uk+1h

3000 + 100

*Potete evitare di scrivere le parti sottolineate



